TABLE OF CONTENTS

1.

N

INTRODUGCTION. ...ttt et e e et e et e et s e e e e s e e saaeseaeesaeeenas 1
ASSEMBLING YOUR TREADMILL.....uuiiiiiite et 4
] 0] o = Ut PSSR 4
TREADMILL ASSBMELY ... ittt e e e et e e e aaaas 5
HOW TO USE YOUR 6300 TREADMILL.......coiviiiiieiieeeeeeeeeeee e e 12
CSAFE Operation GUITE........uuuiiiieeeeeeeeieeeeeeeeieetitsess e e s e e e e e e e eeeeeeeesaesnnnsnanseeeees 15
GUILDLINES FOR EXERCISE..... ottt 18
HOW hard SNOUIA | ©XEICISE ... ceniiiieii et e e e e eens 18
HOW 10Ng SNOUIA | @XEICISE?...uuiiiiieieiie e 18
HOW Often SNOUIA | EXEICISE?...ceeiieiiie et e e e eeaeees 18
ADJUSTING THE RUNNING BELT.....ciiiiiiiee e 19
FLOOR LEVEL ADJUSTMENT....uiitiiii et e et e et e et e e e e aaes 21
TOTAL ACCUMULATED TIME AND DISTANCE......ccotoiiiiiiieeee e 22
TROUBLE SHOOTING .. ..ottt e e e e e e e 23
YT Y ol =0 [ U1 =T U RSPUR 23
EITON MBSSAQES. ... ittt e e e e eaans 23
Fuse failure for INCliNE SYSIEM........cccoiiiiieec e 23
MaAIN FUSE FAIUIE.....ceeeciei e e et e e e raaaas 24

10. WINNG SCREMIALIC. ... eieeee e e eeeieee et e e e e e e e e e e e e e e e e s s e e e e e eeeeaeeeeeennnnes 25



SPORTSART 6300 COMMERCIAL TREADMILL

INTRODUCTION

Congratulations on purchasing one of the finest piece of commercial exercise
equipment on the market today, the SportsArt 6300 Commercial Treadmill. The 6300
is designed with the end user in mind and constructed of high quality materials and

designed for years of trouble-free use.

Before using your SportsArt 6300 Treadmill, we recommend that you familiarize
yourself with this Owner's Manual. Whether you are a first time user of a treadmill or
a seasoned "PRQO", understanding the correct use of the equipment will enhance
your ability to achieve your exercise goals safely and successfully.

o
. o
Electronics Package A7 Emergency stop button
> ight Encl
Cup Holder & A ) Upright Enclosure
: Contact HR

Safety Key

Upright Post
Short Handrail

O
Motor Enclosure : )
Staging Platform
Incline Roller 3 Running Belt
Wheel DR &3
5 -
~ %
’-
Floor Level Adjustment Rear End Cap
g, Belt Adjustment

Belt Adjustment >H£:(

Rear End Cap




Your SportsArt treadmill was designed and built for optimum safety. However, certain
precautions apply when ever you use your treadmill.

Please read the entire manual before assembly and operation. Also, please note the
following safety precautions:

SAFETY Precautions:

¢ Read this owner's manual and follow the instructions

e Assemble and operate the treadmill on a solid, level surface. Do not use outdoors
or near water.

¢ Never allow children on or near the treadmill.

e Check the treadmill before every use. Make sure all parts are assembled, and all
fastneers are tightened. DO NOT use the treadmill if the unit is disassembled in
any way.

» Keep your hands away from moving parts.

e Wear proper workout clothing: DO NOT wear loose clothing. DO NOT wear shoes
with leather soles or high heels. Tie all long hair back.

e Use care when mounting and dismounting the unit.

e DO NOT use any accessories that aren't specifically recommended by the
manufacturer. These might cause injuries or cause the unit to fail.

¢ Unplug from outlet before servicing or removal of any parts.

» Close supervision is necessary when this treadmill is used by, on, or near children,
invalids, or disabled persons.

¢ Use this treadmill only for its intended use as described in this manual.

» Never operate this treadmill if it has been damaged in any way. If it is not working
properly, been dropped or damaged, contact your dealer.

e Do not carry this treadmill by power cord or use cord as a handle.
e Keep the power cord away from heated surfaces.
e Keep all air ventilation areas free of blockage.

e Never drop or insert any object into any opening.

» Do not operate where aerosol (spray) products are being used or where oxygen is
being administered.



e Connect this treadmill to a properly grounded outlet only.

e ETL/GS approved 150kgs user weight.

CAUTION:

If you feel any pain or abnormal symptoms, STOP YOUR WORKOUT and consult
your physician immediately. Work within your recommended exercise level. DO NOT

work to exhaustion.

Before beginning any exercise program, you should consult with your doctor. It is
recommended that you undergo a complete physical examination.

Do not stand on the belt when starting. Straddle the belt with your feet on the right
and left staging platforms.

Always use the safety cord when operating the treadmill.

DANGER:

Improper connection of the equipment-grounding connector can result in a risk of
electric shock. Check with a qualified electricial or service person if you are in doubt
as to whether the treadmill is properly grounded. Do not modify the plug provided
with 6300 treadmill, if it doesn't fit the outlet, get the proper outlet installed by a
gualified technician.



ASSEMBLING YOUR TREADMILL

Installation Requirements

Thank you for purchasing our product. Even though we go to great efforts to ensure
the quality of each product, occasional errors and/or omissions do occur. In any
event should you find the product to be defective or missing a part please contact
your dealer.

Please read this owner's manual and follow the instructions.

Caution: Two persons are recommended to assemble the treadmill. To avoid back
strain, and to ensure safety to the unit and yourself, we suggest you avoid
lifting the running bed assembly from box. Instead drop the sides of the box
and slide the treadmill from the container rather than lifting it.

IMPORTANT: The packing for this treadmill was designed to protect it during
shipment, please store the original packing in a safe place in case you
need to ship the unit in the future.

List of Parts

Before assembling your treadmill, make sure that you have all following items:

1. 8pcs 5/16" x L1" bolts
. 8pcs 5/16 ' washers
. 6pcs 1/4" x L1/2" handlebar bolts (For display area)

. 2pcs M4*L12 upright post enclosure screws.

2
3
4
5. 8pcs 5/16" x L15 philip screws (for display)
6. One screw driver

7. 3pcs hex allen wrench (4mm. 5mm. 6mm)

8. One hex allen wrench with handle. (6mm)

9. Left & right upright post enclosures. 2pcs

10. Fuse-15A(100V/120V) or 10A(200V/240V)

11. One wrench for emergency release button. (For maintenance purpose)
12. 4pcs 5/16" x 1" screws( for optional long handrail or medical handrail)
13. 4pcs 1/4" x 3/4" screws (for optional medical handrail)

14. 4pcs 1/4" washers (for optional medical handrail)

15. 8pcs upright post screw caps (for philip screws)

16. 8pcs upright post screw caps (for 5/16" x L1" bolts)

4



TREADMILL ASSEMBLY

Instructions

When you remove the treadmill from its box, first check to make sure all of the parts
are present. Then, read through the assembly instructions before you begin.

1. Tip the treadmill on its side. Make sure the running belt is in position in the tracks
of the Belt Alignment Guides on the underside of the machine. (See Fig.1). Be

sure to remove and displose of shipping blocks located along the side of the bed
and removed from the underside.

S
S5
(XN
ORI
RS
R
IR
X
IR
XX
R85
X%
R
RS
IR
O es
IR
RO %
:’:‘:’:‘:’:’0 KX 0’:’0 X RXRRRKRX
[RRRXRRLLLRRIRIRRRRKKK | R
RN | R
B IRIIRAIIRII | B
RN | R
B R IRIIIIKI | BSoR
IR | RN
B ORI | B0
R ORI | RREIADS
BRI | RS
R SR | KRR
R SRR | KSR
R | RSN
BRI | BRSSRKIKTS
R SRR | KOS
B R | BRI
R | RO RS
B R | BRSO SSEICKIRLS
R | R
B R | BRI SRRIE
RS SRIL] | RO
Ry | RO
0 R | R R e
R | R
R e oo 5
X RS 8 S X
K % . X
% 0 % 5% >
oo oS00 oo
0% | 8368 ook QR0
oo X 8% RN
oo 4 R
R0 % K
SO 5 oo
R 0% 0%
R o oK
o oo Y
R X %
% oo tooosa s
2o % 0%
KX oo QXXX
(B3 X RRRXXY
g X o
0% oo
0% 0%
0% QoK
%% 0%
%% R
X R
oo R
ook SRS
oo
20085
oSt
oo
KRR
K
SOTos
RS
B
K
R

Fig.1

2. (1) Rotate upright posts into their respective position, securing each side with the
screws provided.

(2) According to Pic. A, press the screw caps to their respective position.




3. Rotate display to fixed position as figure below,
position without fully tightened. (See Fig. 3)

attach all side fasteners to

SRR
SRS
ERRXXIRRS
CSERRLXRIKRL
e stetatetetes
00006200020 06% %00 %% %%
000 %00000 26200000 % %0 %%
100200000 %0 %6000 0 %% %,
70802600 %% %% %% %
KRR
KK
N

o
X
3%

X "
.
8K
S
o, 0.0‘0. o
X
o,

FIG.3

4. Insert short handrail into Handlebar Bracket,
fully tighten all side fasteners. (See Fig.4)

then secure 6 screws provided and

FIG.4




5. Place upright post's enclosure into respective position, then secure screws from
behind. (See Fig. 5)

Press down

CRRKKK
QKK
otototetotetotete?
& REEKSS
R 0!

00020062662 %
.0.0:0.0

e
£
A<
000
o0

X
ot
X5

et

ot

3
&

3
X5
bt

bt
3K
5%
S
6% %

PoSe%0%%
%% XX

70 L
R
&KL
XX

o

FIG.5

3%

s

0%

o
s

%

0%
%S

%

%8

X

s
6355
s

%

s

%

FIG.6




7. Connect power cable as indicated in Fig.7, and fasten it.

FIG.7

For long handrail assembly:

4. Insert Long handrail into Handlebar Bracket then secure the fasteners provided
and fully tighten all side fasteners. (See Fig.4-1)

ZAN
Ny
i =
o 4 G/
7
e
(@)
=P
e ///i 1
&P 3 L
g
55
2
.
i .
A 9
A
FIG.4-1




5. Press upright post's enclosure into respective position. (See Fig.5-1)

O,

4& %
KB KBE
KBS PoSolole!
SIRIKKIILE

109

KR

A3
"“
XXX
SeSode!
28
LRKS
el
K
>
%

%

90%:%%
1%6%%%%
$96%%

2020 % %% %

%
2
XK
QK
5%
2
5%
%
XXX,
XXX

00,00,
0t
30K
QKK
3R
2
X

6%

SR

X

XK X
S
0.0,0

L
oS
00

%5
o
o
o
%5
o

&
5%
KL
00

FIG.5-1

%

RREIEIK
53

2005

%%

Q%
QR
Soess

RIS

S
%
S

o

FIG.6-1




7. Connect power cable as indicated in Fig.7-1, and fasten it.

FIG.7-1

For medical handrail assembly: (New Type)

4. Insert medical handrail into the upper handrail bracket. Attach screws to position
without fully tightening. Install medical handrail post and tighten all screws. (See

Fig.4-2)
=AW
DIy
Q,QQ \ Lo
g N\ [ —
h./,' = v
i)
P ,‘j)
X P
A
\ <
Q’Q"Q’Q‘Q
QO’Q’Q‘ f
_ SRR
J J
FIG.4-2

10



5. Press upright post's enclosure into respective position, and attach the screws
from the backside. (See Fig.5-2)

Press down

ZRRIRK
RRRS
300K
303885

K
%
%S
bt

XK
R
3
538
3%

%%
s
%S
%
35
%

£
0>
&

0.0
0‘0

%

.,:v
9%
oy
X

£
£
£
55

o%

FIG.5-2

6. Insert upright post screw caps into proper position. (See Fig.6-2)

N
%

AR IS,
2R R
XK [RRRLK
IR [RRRKIRRE
KRR [RRRLLK S
KR RN
KRR ORI
SRR AR
RILY IREIKKKKLKKK,
K KRR
RN RIRRIERAOKE
O 0% %6 %% %% % %%
J XK
RRRRANNS XX
XRHRLLR SOOI
QLRSS KK
N S tetototet
XK RS
K
o,
K
RS
XS
RS
K
RS
RRRK
RS
RS
XS
XK
XS

%
953
0RKS

FIG.6-2

11



HOW TO USE YOUR 6300 TREADMILL.:

1.Button functions

SPEED: 1. Press AV toincrease and decrease the belt speed.
2. The speed range is from 0.1mph to 12mph; 0.2kph to 20kph.
3. At any time you can push SPEED up button for QUICK START.
INCLINE: 1. Press AV to increase and decrease the incline.
2. The incline range is from 0-15%.
3. Use INCLINE button to enter AGE and WEIGHT.
STOP: 1. Press the STOP button to stop the tread belt. All data will remain.
2. Press and hold the STOP button to reset all data.

3. During program use, push the STOP button will pause progress of the
course and pressing SPEED up button will resume the program.

ENTER: The button is for entering data (AGE, WEIGHT, etc).

CHANGE: CHANGE will toggle the feedback between the upper and lower rows of
information DISTANCE, CALORIES, TIME, SPEED and INCLINE,
CAL/HR, PACE, METS.

SCROLL: This button will scroll through the preprogrammed courses for selection.
The corresponding LED will indicate the course.

2. Basic operation:

A. To start using the treadmill:
I. Press any key.

II. Enter AGE (AGE LED will light up), press INCLINE up, down button to select
age and then press ENTER.

[ll. Enter WEIGHT (WEIGHT LED will light up), press INCLINE up, down button to
set WEIGHT, and then press ENTER.

IV. Select TIME (TIME LED will light up, and the minute numeric will flash), press
INCLINE up, down button to set TIME and then press ENTER.

1. The pre-set time is 30 minutes.

2. When the time is set at "0", the manual mode will be counting up and all the
other programmed courses will be counting down. The pre-set time will be
30 minutes.

3. When the time is not set at "0", (the minimum time will be 10 minutes, and
the maximum time will be 99 minutes) then the manual mode and other
programmed courses will be counting down.

12



V. SPEED display will show 0.0 and flash, press the SPEED up button to shart
Treadmill and press INCLINE to select a desired incline.

3. Quick start:

At any time, for Quick Start press the SPEED up button to start the treadmill. The
treadmill will start at 0.1mph/0.2kph.

4. Display functions:

A. DISTANCE: Displays total miles or kilometers.
B. CALORIES: Total accumulated calories burned.

C. TIME: Displays total time accumulated or time remaining in a preprogrammed
course.

D. SPEED: Press these keys to adjust your desired speed. The speed range for the
treadmill is from 0.1-12mph (0.2-20kph).

E. INCLINE: Press these keys to raise or lower the treadmill. The incline range for
the treadmill is from O to 15%.

F. CAL/HR: Calories consumed per hour at the current rate of exercise.
G. PACE: Displays minute per mile or kilometer.

H. METS: (Metabolic Equivalents): One MET is equivalents to an oxygen
consumption of 3.5 ml/kg/min.
IMET = 3.5 ml/kg/min.

I. STOP (RESET): Press STOP button, treadmill will stop running, time and
distance will remain. Holding STOP for 3 second will reset the
display.

J. ENTER: Value entering confirmed button.

K. EMERGENCY STOP BUTTON: This button allows the user an additional safety
feature in case of emergency. Upon pushing
the button the treadmill will stop, and there is a
long line accross four windows and the small
LED of Reset Emergency STOP Button will
flashing too. To reset the button rotate the
button clockwise and the treadmill will reset for
proper use.

L. CHANGE: Press this button to alternate between 2 groups of information -
DISTANCE, CALORIES, TIME and SPEED, and INCLINE, CAL/HR,
PACE and METS.

M. PULSE: If the treadmill is equipped a Polar Receiver for Heart Rate monitoring

without transmitter. You need to purchase a transmitter / HR strap to
measure your heart rate during your workout.

13



5. Personal Cardio Advisor:

When you enter your age, Personal Cardio Advisor automatically calculates your
suggested low, mid and high Heart Rate range, 65%, 72.5%, 80%, of max heart rate.
It is highly recommended that you always check with your physician to learn what
the appropriate heart rate level is for your fitness level.

6. Emergency Stop Button:

This feature is a secondary safety feature that allows the user, in an emergency
situation, to stop the treadmill. When the button has been pushed, rotate the button
clockwise to release. The treadmill will not operate if the button is depressed.

7.Course Description

Press the scroll button to select a preprogrammed courses.

|. Manual: Manual is the default program for QUICK START. Press SPEED up to
begin.

lI. TIME can be set under all programmed courses (minimum 10 minutes to
maximum 99 minutes). Refer to P.12 for the time setting instructions. At the end
of the course, the display will prompt you that the treadmill will be going to COOL
DOWN. The speed will then change to 2.5mph and be in manual course.

[ll. Bay Run

@ BayRUN ol e B
30 min

IV. River Run

@ RiverRUN e I S
30 min

V. Climber's Trek
® Climbeg%Tfek_—-_—-

min
s During the workout of preprogrammed course, every adjustment to the incline
level will directly result in the change to the preset figures. (eg. increase the
incline level by 1%, will result in a overall change to the preset level by 1%, vice
versa)

14



8. CSAFE Operation Guide

When you connect 6300 Treadmills to external instruments, such as computers and
medical equipment, the words "ENTER ID PRESS ENTER KEY" scroll across the
dot matrix screen. This message prompts you to press the ENTER key and to input
a user ID. The treadmill will then enter "idle mode".

1. After you press ENTER, the display will show "00000". Press "Incline AV¥" to
select numbers from 0 to 9, then press the "Change” key to determine decimal
placement. Once a user ID is selected, press the ENTER key to confirm your
choice. The connecting instrument will then be able to identify whether the user ID
is true or false. The words "SUBMITTING ID" will scroll across the display.

A. If a false ID is input, the words "BAD ID RE-ENTER ID" will scroll across the
display. Input a valid ID to proceed to the next step.

B. If the ID is valid, the words "ID ACCEPTED" will scroll across the display. Other
user information, including age, weight, and workout time, can then be entered,
and the workout can begin. During and after the workout, the connected device
can read workout data and user information.

Note: If the SCROLL or SPEED A key is pressed before the user presses the
ENTER key to input user ID, the treadmill will enter manual mode. In
manual mode, the user can activate the treadmill, but the connected
device cannot read workout data and user information. After the workout
in manual mode is finished, the words "ENTER ID PRESS ENTER" will
scroll across the display.

2. If any key other than ENTER is pressed, the treadmill enters manual mode.

3. If the user ID is not input within about one minute, the word "UNAVAILABLE"
scrolls across the display, indicating that communication between the treadmill
and the connected device has been terminated. The treadmill display will show
the startup banner. The treadmill must be reconnected to the device to establish
CSAFE control.

Note: User IDs should be established and maintained by the manager of the
connecting instrument. All users should obtain permission of the device
manager before receiving IDs from the manager. The following flow chart
explains the CSAFE control process. In this chart, the term "Master" refers
to the connected device, and the term "Slave" refers to the treadmill.

15



Ready

affline

Offline - Lser starts
workout hefore
eruipment is
configured
Ready - Lser
completes offline
workout

&

Izer starts the
equipment without
entering an D

haster sends
configuration
infarmation and
Goldle cammand
¥
. [dle
— lzer enters ID
Master reads ar
results and Master sends
sends Goldle GoHavelD
command
Ivalid user 1D, ¥
Master sends 4
Goldle cnmmand_ Have ID
Master validates
user's 1D and
sends Galnllse
command
¥
e In Lse ¢
Finished® (= Lag———
Faused

¥

Manual

Llzer completes
workout

ser completes ar aborts workout |

Master sends GoFinished

* Eguipment should implement a timeout condition if no response from the Master

is received within apprapriate period of time.

16

| Master sends
Golnldse
cammand



Text contrast Table

ENTER ID PRESS ENTER KEY

SUBMITTING ID

I TN
oo

BAD ID RE-ENTER ID

_h pi TN
Iy 3 =i
e ET TR —
iE-EREE A D
IDACCEPTED

s :’ ‘l_}l_;

] |l P
UNAVAILABLE _
a1 %_lJ:_ Iy
AR T X N R o R

ENTER ID PRESS ENTER KEY

_z T T |
FaEE-~ Id P

17



GUIDELINES FOR EXERCISE

How hard should | exercise?

HEART RATETRAINING ZONE

Studies show that to achieve the a00 N0 L
benefits of aerobic exercise, it is 190
necessary to work within your 1% 8T
training zone. Your training zone 180 175
depends on your age and level of 17 s
fitness. % e &l L o 1

= B 150
The above chart indicates the g ~ A H ] max
recommended Heart Rate ; 140 o= HEART
training zones (darkened area of O 130>~ \~\'28 o
the chart). These figuress are 20— 127l o ||
calculated by taking 220 minus 1207~ | a0t of
your age, and calculating 80% for ~ '"° 1S max HR
your maximum and 65% for the 100 RTINSy .
minimum heart rate for aerobic % 7 e %ol
exercise. 80 \

20 25 30 35 40 45 50 55 60 65 70 75

CAUTION: YOURAGE

Heart Rate training zones are approximations. Always check with your
physicians to learn what appropriate heart rate level is best for your fitness
level.

How long should | exercise?

The duration of your exercise session depends on your fitness level. In general, it is
recommended that you maintain your heart rate in the training zone for at least 15 to
20 minutes to realize an aerobic benefit. Beginners should always start slowly and
bring their workout sessions up to 20 minutes or more. As your fitness level
increases, you will be able to maintain your heart rate in the training zone for longer
periods: Usually between 20 and 30 minutes.

When first starting your workout, use the first several minutes to warm up, then
slowly increase your workload to bring your heart rate into your specific training zone.
At the end of your workout, gradually decease your workload, then exercise lightly

as a "cool down".

How often should | exercise?

Research indicates to achieve the greatest benefits, should be performed 3-5 times
a week. It is important to allow sufficient time, at least 24 hours, for your body to
recover after exercise.

18



ADJUSTING THE RUNNING BELT

The 6300 treadmill includes a belt alignment gauge located on the left side of the
motor enclosure. The edge of the running belt should be in the middle of the green
portion of the gauge. If the belt edge is in the green area, the belt is properly
adjusted. If the edge of the belt is in the red portion, the belt needs adjusting
immediately (see Fig.6)

About 3kg(6.6Pound)
30m/m ”

(1-1/8inch> Belt

\Running deck

i—
Belt
t
AR

3kg6.6PeuUNCD

Fig.6

The belt is properly aligned at the factory. However, during shipping and handling or
by use on an uneven surface, the belt may move off center. Therefore, it is important
that you check the belt's alignment before using the treadmill. The correct alignment
of the running belt is critical for the smooth operation of the treadmill.

CAUTION: DO NOT ALLOW ANYONE TO WALK ON RUNNING BELT DURING
THIS PROCEDURE.

Failure to realign the belt could result in tearing or fraying of the belt, which is not
covered in the warranty.

Please follow the belt adjustment procedure listed below:
1. Turn on the power switch located on the front of treadmill.

2. Press the SPEED A button to increase the speed until the speed reaches 2.0
mph/3.2kph on the display.

3. While the unit is running at 2 mph/3.2kph, determine where the belt is in relation
to the belt alignment gauge.

4. Should the belt be in the red color range, follow the steps below to return the belt
to the proper operating position.

19



5. If the belt is in the left red zone: Using the hex Allen wrench, turn the left belt
adjustment bolt, located at the rear of the treadmill, clockwise 1/4 turn at a time,
Then turn the right belt adjustment bolt counter-clockwise 1/4 turn. Let the
treadmill run 30 seconds. Always checking the position of the belt in the color
gauge. If the belt still has not returned to the green safety zone, repeat with
another 1/4 turn until the belt has returned to the middle of the green area. Do
not turn adjusting bolt more than 1/4 turn at a time.

If the belt is on the edge of the green color, please adjust it so it is in the middle
of the green color. You may turn the adjustment nut less than 1/4 turn at a time.

6. Conversely, if the belt is in the right red zone, turn the right belt adjustment nut
clockwise 1/4 turn, then turn the left adjustment bolt counterclockwise 1/4 turn.
Let the treadmill run at least 30 seconds, while checking the position of the belt
in the color gauge. If it stills has not returned to the green safety zone, repeat
with another 1/4 turn until the belt has returned to the middle of the green area.
Do not turn adjusting bolt more than 1/4 turn at a time.

7. When the belt is back in the green "safety zone", you can continue your regular
use of the treadmill. Slowly increase the speed of the unit to 5.5 MPH (9 KPH),
and let it run for at least 45 seconds.

8. When you are using the treadmill, if you feel a pause in the belt with each foot
plant the belt is too loose. Stop the machine, adjust both rear roller bolts
clockwise 1/2 turn at a time. Try the machine again, then check the result, if more
adjusting is required, give both adjusting bolts another slight turn. Do not adjust
over 2 fullturns.

9. If the belt is too tight, this will adversely effect the life of the unit.

10. To check the correct tension of the belt, grab the belt in the middle, and lift up
about 30m/m (1 1/8") or 3 kg (6.6 pounds) of force (see Fig.7,7-1,7-2).

About 3kg(6.6Pounch
30m/m “
(1-1/8inch> Belt

e b 5= —— |

\Running deck

Fig.7-1

Fig.7-3

Belt

f

3kg(6.6Pound)

Fig.7-2

20



11. If the belt is too loose, you can tighten the belt by equally adjusting both rear
roller bolts clockwise 1/2 turn at a time. Conversely, if the belt is too tight, adjust
both rear roller bolts counterclockwise 1/2 turn at a time (see Fig.7-3).

Periodically monitor the position of the belt to ensure peak performance

CAUTION: To avoid injury, special care must be taken when adjusting the running

belt. Remove any loose clothing or shoes lace and tie back your hair. Be

very careful to keep your fingers or any other objects clear of the belt
and rollers.

The treadmill is designed to carry specific weights. The treadmill will not
stop immediately if any object becomes caught in the belt or rollers.

Over tightening of the belt causes damage and premature failure of the
precision bearings in the front and rear rollers.

FLOOR LEVEL ADJUSTMENT

If the treadmill is unsteady on your floor, turn the floor level adjustment on the rear
feet of the treadmill. Raise or lower the floor level adjustment to steady your treadmill

(see Fig.8)

oy

o

X%
X
S
X
’:’4
5
X

o

o

X

RXXR
B33
o

&
K&K

20598
XXX
SR
%5
S
R
R

XS
5
o
&
oo

o
2
%
e
X
RS
RS

Adjust the floor level adjustment to make the treadmill steady.

Fig.8

PS: Rear floor level adjustment should be adjusted and tightened properly. Or some

noise might be caused while working out.

21



Tear the Twin Adhesives on the Cup Holders open; affix Cup Holders onto two sides
of the Electronic Display Board. Press tightly as shown in this drawing. (see Fig.9)

Fig.9

TOTAL ACCUMULATED TIME AND DISTANCE

The 6300 display electronics allow the club owner or technician to monitor distance
and time.

(1) Show the total distance.
(2) Show the total time.
Press and hold the CHANGE button for three seconds during the banner.
1. Total Distance will be displayed,
press ENTER to advance to total time.
2. Display Total Time

???7?:00

3. Press any button to exit accumulative data mode, display will return to default
banner.

22



TROUBLE SHOOTING

Service Required

When Service Required LED lights up, please stop using this treadmill and contact
your dealer for more information.

Error messages

1. E-1: The optical switch mounted on the motor is not receiving the signal
reflected from the tachometer wheel. Please contact your dealer.

2. E-3: Treadmill speed doesn’ t match the setting. Contact your local dealer for
assistance.

3. E-7: The electronics are receiving the signal reflected from the VR
(Potentiometer) incorrectly, which means the terminal wires are either
disconnected or the VR is damaged. Please contact your dealer for more
information.

4. E-6: Inspect and replace the incline system fuse.

Fuse Failure For Incline System

Should the incline system not operate, and displays "E-6" on the display, please
replace the incline system fuse.

The 4 amp fuse is for the Incline system. To remove the incline system fuse, push on
the fuse holder then turn the holder counterclockwise and the fuse holder with fuse
will protrude. Remove the damaged fuse and insert a new one, push the fuse and
holder in, then turn clockwise to secure the fuse holder (see Fig.9~Fig.9-3).

If the incline system still does not function after changing the fuse, please contact
your dealer for more information.

23



Main Fuse Failure

If nothing is displayed on the electronics display, please check the POWER switch
located on the front of the treadmill. If it is ON, then the fuse may be damaged and
must be replaced.

CAUTION: MAKE SURE THE TREADMILL POWER PLUG IS REMOVED FROM
OUTLET BEFORE REPLACING THE FUSE.

There is one fuse holder located at the front, inside of the treadmill frame, (15
amp/100-120volts or 10 amp/220-240volts). This is for the Main Power (see Fig.10).
Please make sure to check your standard voltage prior to selecting correct fuse for
replacement.

To remove the Main fuse, push the fuse holder in and turn the holder
counterclockwise and remove the fuse holder with fuse. Replace the damaged fuse
and insert a new one, reinstall the holder, then turn clockwise to secure. (See Fig.10
to Fig.10-3).

( 100\/-120\/=15A>

200V-240V=10A

REMOVE THE DAMAGED
FUSE AND INSERT A
NEwW FUSE.

Fig.10-2

If the unit does not work after changing the fuse, please contact your dealer for more
information.

To further disable the treadmill from use, you can remove the fuse to make the unit
in-operable.

24



Wiring Schematic:

FUSE 110V-15A
FUSE 220V-10A

_____ 220V -BROWN
ACl [ B L(BLACK> BLACK 110V-BLACK
acel Jr1TerRE [newHITE> JSWITCH 639 |
I | 220V-BLUE |
| 1 HOV-WHITE =t
| YELLOW & GREEN 220V -YELLOWRGREEN
POWER of VR of | L — — — = = = 110V -GREEN
DC MOTOR CONNECTOR INCLINE INCLINE
SPEED SENSOR MOTOR MOTOR TRANSFORMER

/m\ TO CONTOROL BOARD /ﬂ\ ﬂ\
KJ% WHITE
[ I

SPIN  8PIN 10PIN 2PIN 3PIN 15PIN AC2

BLACK

AC1 Le

p
T
1

7| -3

2PIN M+ |l 8<

VAR gl iz

Temperature I:I a g >

Switch of DC MOTOR M- 2] g2
T L/

110V-WHITE 110V -BLACK

220V-BLUE 220V -BROWN
M
6300&6310

Your Authorized Distributor

25




